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Q. 1. Caleulate the Stopping Sight Distance for two-way traffic in a Single Lanel%gad. :@he design speed
of the Road is 60 kmph. Assume Reaction time of thedriver as 2.5 sec and Co;g}ﬂffb%cnt of friction as 0.6,
Brake efficiency is 50%. [CO2] ?@%M}Q{N{g - &)

Q. 2. The speed of overtaking and the overtaken vehicle is 80kmph &;égg&f(mph respectively on two-

way traffic. The acceleration of the overtaking vehicle is 3.6 kmf& léulate. i) Safe overtakin sight
Y 1p] g

&

distance. (ii) Minimum and desirable overtaking zone. [CO2]s, é\gg (5)
Q. 3. Design the rate of superelevation for a horizont &{n§way curve of radius 500m and speed

100kmph. for mixed traffic conditions. [CO2)
Q. 4. Solve the following:- [CO1|

a}  Minimum green time required for vehgc%g\;f(;iany of the approach is __ seconds
b)  Gradient on a highway is 1 in 20, R"K%l

¢} Intermediate sight distance is %qg;iio times SSD

(4)

L}A%ﬂ“of the curve is 200 m. calculate grade compensation,

&

d}  As per IRC the maximu‘i‘g@ij;gﬁélevation that can be provided on hill road not bound by snow is
-

¢}  Define gradient ?njg{iw g?éi::'ény four types of gradients. (5X1 =5) |

Q. 5. The width orgtf’caf&ei%ge way approaching an intersection is given as 15 m. The entry and exit width

at the rotary_..i\sfi\()qé.ﬁvl"he traffic approaching the intersection from the four sides is shown in the figure 4

below, E;%d the }ffﬂﬁacity of the rotary using the given data. [CO$] (6)
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